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5. a. Negative, negative, negative. A freely falling object’s acceleration is 9.8 m/s? down regardless
of how it is moving.

kg-m
42

b.1N=1 LookattheunitsinF=ma.misinkg,aisin-?;

c. t3. Velocity is the slope of a position graph and t; is the only time at which both curves have the
same slope.

d. More at A. The normal force is more at A because there isn’t as much upward force from the
string. Larger n means larger f by f= un.

e. More than 100 N. B’s y component equals 100 N, to balance the weight V
100 N More

of the box. B itself would be more. than 100 N
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5. a. It should be an arrow three times as long as A, pointing to the left. A

b. They should each be 1 unit long, 1 cm in this case. i should point in the x direction ~—»7 TJ
and } in the y direction.

c. i. Actual force. The net force toward the center of the curve.
it. Inertia effect. An object’s tendency to follow a straight line makes it want to move outward instead of
following the curve,

d. Up. The scale reads how hard the scale is pushing against the weight. At point A, it pushes with a
force greater than what it weighs, causing an upward acceleration.
la
e. A constant velocity means an acceleration of zero. It doesn’t matter if it is 30
m/s or some other speed, the important thing is that it is not changing. 0, t




